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Prove that + + +t = for all integers 1 =1 SCORE: /10 PTS
1x5  5x9  9x13 (4n—-3)x(4n+1) 4n+1 2 T
by mathematical induction, showing all steps demonstrated in lecture.
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By mathematical induction,

for all integers n =1
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Evaluate Z(Sk —3k?). Your final answer must be a number (not involving arithmetic operations). SCORE: /4 PTS
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If (k)= x", expand and completely simplify the difference quotient ACEs }2 e : 12_4; SCORE: /4 PTS
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Expand and completely simplify the complex number (3 —27)°. SCORE: ____ /7PTS
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Find the 7" term of (85 —11g)* . Your final coefficient may be in factored form as shown in lecture. SCORE: /5PTS
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